[EXIT] (B | e
gp @ r? kolme murto -osaa, toimintojen jarjestys

Nimi: Paivamaara: Pisteet:
2 1 2 2
—+3=3= — X —+ — =
3 2 5 3
3 2 1 3 2 1
—_— — X = = —_— — X —_— =
5 5 6 5 5 3
1 3 1 1 1 1
—_— — X = = —_ X -t - =
2 2 3 4 4 3
3 1 2 1 1 3
_ X —-F - = —+ — X — =
5 3 5 5 6 4
_—Exlz 11+1_§:
3 2 6 2
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kolme murto -osaa, toimintojen jarjestys

Nimi

2 5
—+3+3=-=1
3 3
3_2 1_

5 5 6 15
1 3 1
R
3 1 2 3
—_ X = —_ =
5 3 5 5
1_3 1_1
3 2 6 12

Paivamaara: Pisteet:
1 2 2 13
— X -t - = —
2 5 3 15
3 2 1 7
—_— = X — =
5 5 3 15
1 1 1 19
— X =t - = —
4 4 3 48
1 1 3 13
—_F = X - = —
5 6 4 40
11+1- E = B = 9l
2 2 2
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